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l. (a) Using the bireact,ion method. obtain a root of .t'l -.t-l = 0 .

(b) ByNewton.RaphsonMethod,fincl arootof ''t -.r-10=0 correcttothreedecim?lplaces.''

(c) By Gaussian elinrination method,
a

Solve; ?r-3Y *z=-1,
r+4.y+5:=25,'
3x-4Y+z=2.
,

(rl) Explain the methocl of solving the system of non-linear'.equations b1' Newton'Raphson nrethod.

(t:) Const,ntct a table of divided diffelence for the following daia :

.r:02356

.\' : l9 55 241 1 l5

(0 llr, trsing Simpson's rule evaluar. I,i* b1'clivicling (0,2) into 6 equal parts'
I +.7

(g) Usrng Tay'lor senes methocl' *otuu fr +'t + -\" 1{0) = I

(h) f)erive the finite rtifference formula for solving Laplace's equation'

[8x5=40marks]

2. (1) Bv using Graeffe's root squaring methocl, find all lhe roois of ...3 - gy2 +24x-20 = 0'
( l5 ma rks)

Or

13cginning rvith the trial factor (..-?-2.r+4). find the quadratic factor of

..1 + 2.1.r3 -;1.42.r? + 8. l9.r'+ 7.13 = 0'
(15 nrark-s)

By'using Gauss-Seidal iterative nrethod, solve thc ctluations

l0.t*2.1,+6:=28
.r * l0-r'r- 0-- = 7

2x-iv-10--=-17
(15 marks)

Turn over

(lt)

3. (a)

Correct to three decimal places.

Or



l) 61631

( l5 marks)

(n)l]singLagrangc.sInt'elpolat'ionlormula.finc|thevalueof.r,cttrresponrlingto.r.=j?frtrmthe

L,

following data :

J .r : 14 ti 31 35

(8 marks)

(7 marks)

{7 marks)

'l

\' : C8.7 6'l 44 3f).1

{b) 'fhc follos'ing table gives t'he values of 't artd 1' :

r: : r r'ix l'l 1'15 l'"1 t'25 l'3

.\' : l'0 l'02d7 t'org t'o; l'095 I'l l8 l'l't

tJsing Stirling's formula finrl '1' 
rvhen 't = I ' l2' '

-
Or

i ^.-r,^-. *-.r4rvhenr=2fromthefollorving:
(c) Llsirrg ntttrrertcal differentiatiotr' fintr dr " "'"''-

,.t"'JlGBlo
' ,' lO'ir 'lt'1 35':l 16'7 13

. r ? rir r/.r r _r:^q611,i11g thlrange into l0 equal parts.

(rlt tjsrng the TraPcz'oirlnl rtile' cvafuarc Ji;;;; hy'rttssorr lrr]i'r! 
(8 marks)

. (n) Ljsing Ilunge.litrtt.a method of fourth order' compute )'(0'l) and y(0'11) if 'r('r') satisfies

'. ,J,, I ,.2-.rrrr-l )' 'J:=ftt*.r):'2..r(o)=I. (?marks)'drz
dvI

(b) using i\crarn,s prerricior-c'rrector formura. c.rnpute.r(0.'l) anrr.r(0'5) if 'r'('t) satisfi*t rT = t'\'1'

and t.he data :

.r': 0 0'l

\' : I l'002I1 (8 marks)

0.3 c).3

l.0l0l 1.0928

Or

(c) f"incl t,htr solttt'ton t'f 2# - # = 0 rvhen

/r = l. find the valttcs of rr('t' l) upt'o I = l-t'

rr(0.1) = 0 rr('l,t) =--O' rr(r'0) = 't(4 - 't)' Assumtng

(li: marks)

14 x l5 = 60 marksl


